appVersion (4)="1.0.8348.30405"

Find array position / elements

Pos (M#, F(.))::

nn:=0
for j & [1..length (M#)]
if F[M# q
J
nn:=nn 41
pOS# nn =]
C =M#
nn 7
else
continue
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augment (pos#, C)
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(x):=(
[test2 (x):=(4<x<5)
Itest3(x):=(4<x55)l
Itest4 (x)::(x=0)l

B :=Random (100, 100, 0, 9)=
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Pos2 (M#, F(n)):=
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val := F(M#)

res:=matrix

2, E val

for j € [1..length (M#)]
if val

nn:=nn+1

res 1 nn =7
res = M#
2 nn J
else
continue

res
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t = time(O)

Pos (A, testl (x)):[
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Pos, :=(time (0)~t)=0.006 s

t:=time (0)

Pos2 (A, testl (x))—[

Pos2, ::(time (0)- t]

:=time (0)

Pos (B, testl (x))z[

24 22 2324 25 26 40 50 69 70 75 78
98 9 8 8 8 9 9 8 9 8 9 8

=0.003 s

PosZt _Post =—-0.003s

2511 131517 23 29 32 33 43 53 57 61 65 66 67 79 83 91 94
88 8 8 8 9 9 9 9 8 8 9 8 8 9 8 8 8 9 8 9

Pos, :=(time (0)~t)=14.677 s

t:=time (0)

Pos2 (B, testl (x)):[

Pos2, :=(time (0)-t)

2511 1315 17 23 29 32 33 43 53 57 61 65 66 67 79 83 91 94
888 8 8 9 9 9 9 8 8 98 8 9 8 8 8 9 8 9

=2.813s

PosZt _Post =—-11.864 s



